Ly DAY EPTZRAAD )V EGEBHKR 11HEf D—F1B3K

= D= KiEH N wiEB THES BiEH

‘4§:—r‘ |3§3—r| ‘2%:1—%”1%:1—&\' |4§:—r| ‘3%:1—l~| |2§:—r| ‘ 1§B—l~|

EmCED  EEmCEm

E‘E’ﬁ R & ¢' 850

|4§3—r~"3§B—F||2§3—FH1§3—}~| |4§3—h||3§:—%‘|2§3—h||1§:—%‘ ‘4§:—r‘|3§:—1~H2§:—r‘|1§:—r~| |4§:—r~|‘3§:—r‘|2§3—r“1§: r‘

e B e

v EEEEm WEMEWEMEWEMmm i 5 BB | o

1050 e BH =9 Wwh 2% w8 =BRO WA 0 AL 0 BE 0&  GE
| I 0 I T | 2
sz EEEEEEEE xi Uk EE o as mw o

1220 A BLAY e B %7 8P WA S s 28 WA HE %7 A (L

- | ||1300~:| ] I T EEE | 28
19 0 :| | b RS R |

1350 B ) As & @m

| | | | e~ I | I | NEECH [T [ £ ]| 45sE
vz | |0 N [ I N 0 ] ) R 0 0] gy 5 @ B eA m w8 bs | o

50 | BB 2% WXk kE U8 B WA 2% ®Ee 6B ﬁ% 171';3?*
/90O ~10.
1990 | mos Kids | ~rao0= #7552] [ Kids | Kids | ~ram0= w7052]| Kids | | Kids | i 8 HS BH 2P TS | 1900

Kids

w7 || GK1 || PreB i \Gm || PreB | &7 PreB TE | GKI | & so-2 T8

1J€rs?3% \ﬂl 11575255 Ilort 2m| [or1 2] —=—— 1?7525 IN® 2?)] Jr1 2(&* 1157525g Ilort 2m| | or 2 el Jr1 2%)] Jr1 2[3 Jr1 2%)] Jr1 2[3 \&‘ Jr1.2%| [Jr1.2& 16:30
| _ 2& : i UJZ: - i ] ‘ i ~1725

W
1705 1700~ - g5 1700~ E g5 1700~ E = v = .

f?fz‘gé \ﬂI‘JrZSEP"er.E%)JHJrZS(a*‘ ‘erSJ:HJrZS%)J"erSlat‘ ‘er.SEP"dr2.3%)]"JrZ.SIa*‘ﬂ“JrZ.S%)J‘I‘JrZ.SJ:MJrZ.SIEK‘” |‘JrZ.S%)JM\JrZ.SquJrZ.BIg‘” ”JrZ.S%)JmJr2.3q3‘|‘Jr2‘3[af‘| f?fz‘gé
1820 ey @mBy =S e a B HE w5 I8 = s B% s1 I8 B T8 s mH | 180
I | I I | I | ] | I | I I | | |
1820 ‘\ | |Sti#k| | Stepsk| | Ste#k| | Stig || Stinsk| | Sth#k| | Strk| | St || Sti#k| | Stepk| StER| | Stid || StinR| | Stk | StEiR] | |
1930 | | 2p 8 WA B8 W8 @B g9 95 BB BB BN 28 BE 95 8P | T EEA | v u23
| | I | I I | I | | I | | ) BF% | A5 | BE | BHE || ~19%0 | 8% | ~1925
L T E O EA R e E
: B | 80 2 WA | B & E) O B | 98 | RO = EE.q:
2050 | | | | | [ | | | ! | | | | | | | | |
S [ s [
| | | | | | | BB mEF o s | 2120
™ EE E COEECOED  EEEEEm

2520 BN WA ana D E.S,?Eﬁ 2B B B mzs ®E S0 TS




